IP67 D-SUB CONNECTORS

2]32

D-SUB STANDARD - IP67

Solder cup — Precision machined contacts — Front mounting — For wire size AWG 20

[ [__:‘“ |
f';l d" .}
\:L ___-- "* ' |

RoHS compliant - CSA listed, File No.LR115000-1 UL listed, File No. E202784

SOCKET CONNECTOR

8 No.of pos. A 02
4 09 21.10
02 15 21.10
25 2110
¥, O 37 21.10
50 23.90
- (w (06000) Wm
@\ o000 /& J
A\ w

\

Mounting style: Front spacer

4-40 UNC

0-Ring

]

B +02 C D2 025
3940 2500 ‘o 1646
4770 3330 "9 2479
6140 4704 =013 3850
7790 6350 013 54.96

7550 6110 ‘O 5255

Sealing compound

6.1

—
I

—

M3
4-40 UNC

0
590

8020 55

9-37 pos.

Mounting style: Front spacer and rear mounting stud

DESCRIPTION

m  Suitable for wire size AWG 20
m  Mounting styles:
- with M3 or 4-40 UNC front spacer
- with M3 or 4-40 UNC front spacer and rear mounting stud
m  Quality class 3 (also available in quality class 1)

m  Nickel plated die-cast frame
(Black plastic frame on request)

PLUG CONNECTOR

Shell: Brass tin plated (stainless steel available on request)

8 | No.ofpos. A+02 B+02
4 9 2110 39.40
o1 15 2110 4770
25 2110 6140
s 37 2110 7790
( A 50 2390  75.50
< S oo
L4\ S A
N
\

Mounting style: Front spacer
M3

4-40 UNC

0-Ring

C D1 +025
2500 J91 1679
3330 ‘g0 25.12
4704 013 3884
63.50 013 5530

52.68

6110 "9

E 030
582
5.82
5.69
5.69
5.69

Sealing compound

364"

UI }
8.23'5%| \ Rubber-Gasket

9-37 pos.

Mounting style: Front spacer and rear mounting stud

am D auns] aD
== —=
é —% 440 UNC ==
bl
i
4-40 UNC ‘ | 109545
o4 50 pos o4 50 pos.
ORDER DATA

SOCKET CONNECTOR

No. of pos.

09
15
25
37
50
09
15
25
37
50

Vo || Hed
CSONES

Mounting style

M3 Front spacer

M3 Front spacer

M3 Front spacer

M3 Front spacer

M3 Front spacer

4-40 UNC Front spacer

4-40 UNC Front spacer

4-40 UNC Front spacer

4-40 UNC Front spacer

4-40 UNC Front spacer

4-40 UNC Front spacer and rear mounting stud
4-40 UNC Front spacer and rear mounting stud
4-40 UNC Front spacer and rear mounting stud
4-40 UNC Front spacer and rear mounting stud
4-40 UNC Front spacer and rear mounting stud

Part Number

6 STDO9SAM99B40 X
6 STD15SAM99B40 X
6 STD25SAM99B40 X
6 STD37SAM99B40 X
6 STD50SAM99B40 X
6 STDO9SAM99B50 X
6 STD15SAM99B50 X
6 STD25SAM99B50 X
6 STD37SAM99B50 X
6 STD50SAM99B50 X
6 STDO9SAM99B70 X
6 STD155AM99B70 X
6 STD25SAM99B70 X
6 STD37SAM99B70 X
6 STD50SAM99B70 X

PLUG CONNECTOR

No. of pos. Mounting style

09
15
25
37
50
09
15
25
37
50

M3 Front spacer

M3 Front spacer

M3 Front spacer

M3 Front spacer

M3 Front spacer

4-40 UNC Front spacer

4-40 UNC Front spacer

4-40 UNC Front spacer

4-40 UNC Front spacer

4-40 UNC Front spacer

4-40 UNC Front spacer and rear mounting stud
4-40 UNC Front spacer and rear mounting stud
4-40 UNC Front spacer and rear mounting stud
4-40 UNC Front spacer and rear mounting stud
4-40 UNC Front spacer and rear mounting stud

Part Number

6 STDO9PAM99B40 X
6 STD15PAM99B40 X
6 STD25PAM99B40 X
6 STD37PAM99B40 X
6 STDS0PAM99B40 X
6 STDO9PAM99B50 X
6 STD15PAM99B50 X
6 STD25PAM99B50 X
6 STD37PAM99B50 X
6 STDSOPAM99B50 X
6 STDO9PAM99B70 X
6 STD15PAM99B70 X
6 STD25PAM99B70 X
6 STD37PAM99B70 X
6 STD50PAM99B70 X



